


14. 1ne Bulk Modulusi‘ﬁr'an"incompressible liquid is
(a) zero (b) unity
(¢) infinity (d) between O and 1
15. A 20 uF capacitor is connected to 45 V battery
through a circuit whose resistance is 2000€.
What is the ﬂnal charge on the capamor?
(a) 9x107*C @}9154,(10 C
(c) 9.8 x107 ¢ (d) None of these
16. A particle having almost zero mass and exactly
zero charge is
(a) positron
(c) neutron

(b) electron
(d) neutrino o

17. The ionisation potential of hydrogen atom is ..
(¥

13.6 eV. The energy required to remove
electron from the second orbit of hydrogen willl
be
(@) 274 eV (b) 13.6 eV
(c) 3.4eV (d) None of these
13.\& long spring is stretched by 2 c¢m and its
' potential energy is U. If the spring is stretched by

10 cm; its potential energy will be \

(a) U/S (b) U/25
(o) S5U (d) 25U

19. A change of 8.0 mA in the emitter current brings a

_change of 7.9 mA in the collector current. The

values of o and p are
(a) 0.99, 90 (b) 0.96, 79
(c) 0.97,99 (d) 0.99, 79

20. The intensity of radiation emitted by the sun has
its maximum value at a wavelength of 510 nm and
that emitted by the north star has the maximum
value at wavelength of 350 nm. If these stars
behave like black bodies, then the ratio of surface
temperatures of the sun and north star is

(a) 1.46 (b) 0.69
(c) 1.21 (d) 0.83
21. Ifthe linear momentum is increased by 50%, then
kinetic energy will be increased by
(a) 50% (b) 20%
(c) 125% (d) None of these

22. Two resistances R and 2R are connected in
parallel in an electric circuit. The thermal energy
developed in R and 2R are in the ratio
(a) 1:2 (b) 2:1
(c) 1:4 (d) 4:1

23. An electric current passes through a circuit
containing two wires of the same material
connected in parallel. If the lengths of the wires

24. Two identical positive

* direction of motion. The bes

25. The Poisson’s ratio cannot hav

26. The dimensions of electric dipole

27. If K denotes coefficient of therm

28. Charge Q, is divided into two

29. A copper rod of length I and

are in the ratio of 4/3 and
in the ratio of 2/3, then th

y-axis at equal distances
negatively charged particle
a large distance from O, m
passes through;O and moves
acceleration a is taken as

particle’s acceleration and -
represented by

1.
a
(a)

OI \_/x —

R—

(c)
4

(b) 0.2
(d) 0.3

(a) 0.7
(c) 0.1

(a) [L*1]
() [LTI]

(b) [LI] fiBes
(@ [T

the density and c the specific hes
where X = K/ dc will be
(a) cmsec™? (b) em? s
(c) cm sec (d) em?

then kept some distance apart. Th
them will be maximum if the two
the charge

(a) Q/2each

(b) Q/4and 3Q/ 4

(¢c) Q/3and 2Q/3

(d) e and (Q - e), where e = elec

suspended from the ceiling by on
What will be elongation of the rod |
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through a circuit whose resistance is 2000 €.
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change of 7.9 mA in the collector current. The 25.
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(a) 0.99, 90 (b) 0.96, 79
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The intensity of radiation emitted by the sun has
its maximum value at a wavelength of 510 nm and
that emitted by the north star has the maximum
value at wavelength of 350 nm. If these stars
behave like black bodies, then the ratio of surface
temperatures of the sun and north star is

(a) 1.46 (b) 0.69

(c) 1.21 (d) 0.83

. If the linear momentum is increased by 50%, then
kinetic energy will be increased by

(a) 50% (b) 20%

(c) 125% (d) None of these

Two resistances R and 2R are connected in
parallel in an electric circuit. The thermal energy
developed in R and 2R are in the ratio

(a) 1:2 (b) 2:1

(c) 1:4 (d) 4:1

3. An electric current passes through a circuit
containing two wires of the same material
connected in parallel. If the lengths of the wires

20.

27.
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29. A copper rod of length I and radi

are in the ratio of 4/3 and . :
in the ratio of 2/3, then th

y-axis at equal d:stances
negatively charged pamcle _

a large distance from O, mo\
passes through O and moves
acceleration a is taken as
direction of motion. The best g
particle’s acceleration and its
represented by :

A
a
(a)

‘

\/x—u—

R

()

f
The Poisson’s ratio cannot have ;he..valu’_e_
(a) 0.7 (b) 0.2
(¢) 0.1 (d) 0.3 ‘4
The dimensions of electric dipole moment ar
(a) [L1] (b) [LI]
(c) [LTI] (d) [T}
If K denotes coefficient of thermal conductivity
the density and c the specific heat, the uﬂif |
where X = K,f' dc will be

(a) cmsec!
(¢) cm sec

(b) cm? sec?

(d) em? sec"l.

then kept some distance apart. The force be!
them will be maximum if the two parts are
the charge

(a) Q /2each

(b) Q/4 and 3Q/4
(c) Q/3and 2Q/3
(d) e and (Q - ¢), where e = electronic

suspended from the ceiling by one of
What will be elongation of the rod due



s ?ar‘e the density and Yomg’s
copper nespecuvely?

_-ﬁlled w:th an incompressible
M and closed at both ends. The
ed 1n a horizontal plane about
h a uniform angular velocity w.
nb;r the liquid at the other end

® 1 = Mo
(d) None of these

etal has a ‘concentric spherical
"if e ball is heated the volume

; attamed biy'the sphere

‘fb*)’ 701 cm
d '[d) None of these

i

i ) 18

meﬁ‘icaent of r
rubbing it
10 em is 0. 55 J
(a) (i) and (ii) |
(©) (i) and (i)  (d) .
A 25 W and 100 W bulb
connected to the mains. Whic
brighter?
(@) 25Whulb
®) 100Wbub
~ (¢) Both bulb will glow
(d) None will glow brighter
A hollow sphere is filled with
small hole in it. It is then h
and made to osullate As the
out of the hole at the bﬂ
oscillation will
(a) Continuously decrease
(b) Cont:tnuously increase
(c) first decrease then mﬁeasg
(d) first increase then decrea:
By increasing the tempe
(a) volume and densil
(b) volume and density
(¢) volume increases and
(d) volume decreases an
When a ceiling fan is
velocity falls to
How many more
commg to rest?
- (a) 24 5

36.

37.

38.

39.

40, BlockA of mas



the wedge is 1/3 and both the blocks A and B are
released from rest, the acceleration of A will be
(a) -1 (b) 1.2
(c) 0.2 (d) zero

41. Three identical rods, each of length x, are joined
to form a rigid equilateral triangle. Its radius of
gyration about an axis passing through a corner
and perpendicular to the triangle is

x fe?
S b

r3 X
(C) E. X (dJ 'Jﬁ

42. A solid sphere is rotating in free space. If the
radius of sphere is increased keeping mass same
which one of the following will not be affected?
(a) Angular velocity
(b) Angular momentum i
(c) Moment of inertia A
(d) Rotational kinetic energy

43. The coefficient of limiting friction yt is defined as

R L
(a)u-F (b) p= R
= - R
(ﬂ}u—R (d) p = =

44. Two waves represented by y =asin (ot - kx)
and y = a cos (wt —kx) are superposed. The
resultant wave will have an amplitude

(a) a (b) v2a
(©) 2a (d) zero
45. Which of the following is not the property of the
photons?
(a) Momentum (b) Energy
(¢) Charge (d) Velocity

46. What is an ideal gas?
(a) One that consists of molecules
(b) A gas satisfying the assumptions of kinetic
theory
(€) A gas having Maxwellian
speed
(d): A gas consisting of massless particles
47. A truck is moving on a friction less surface with
uniform velocity of 10 m/s. A leak occurs in the
water tank of the truck at the rate of 2 kg/s. What
is ;hoi) SEEEd Ef truck after 50 s if the mass of truck
is an ; i initi
o mogkg? mass of water in the truck Initially
(a) 20 m/s
(¢) 5m/s

distribution of

(b) 10 m/s
(d) None of these

. The numerical ratio of average Vi!]hr'u? 3
average speed is Y
(a) always less than one
(b) always equal to one
(c) always more than one
(d) equal to or less than one
An ideal refrigerator has a freezer at
temperature of -13°C. The coefficien;
performance of the engine is 5. The tempe;gy,
of the air (to which heat is rejected) wil] pe
(a) 325°C (b) 325°K
(©) 39°C (d) 320°C
Which of the following is not the case wigy g
image formed by a concave lens? 1
(a) It may be erect or inverted
(b) It may be magnified or diminished
(¢) It may be real or virtual
(d) Real image may be between the pola g

focus or beyond focus '

Cadmium rods are used in a nuclear reactgr for

(a) slowing down fast neutrons

(b) speeding up slow neutrons

(c) absorbing neutrons

(d) regulating the power level of reactor

Ultrasonic waves are produced by

(a) Piezoelectric effect

(b) Peltier effect :

(c) Doppler’s effect

(d) Coulomb’s law

In a cathode ray oscillograph, the focusing of

beam on the screen is achieved by '

(a) convex lenses

(b) magnetic field

(©) electric potential

(d) All of these

- Abody of mass 12 kg is suspended by a coil spring
of nataural length 50 em ang Spring cons

2x10°N/m. The length of the spring aftet

extension will be

(2) 0.00588 m (b) 0.0588 m

iﬂiﬂ%?SBS m (d) None of these
s is dropped on a floor and bounces back to
whg: ht s;_umewhat less than the original h

of the curves depicts its motion cort

49.

50.

51.

52.

53.

55,

+
y
(a)

(=



¢ = cos (ot + kx), the dimensions

(b) M°L1T9)

) (@) (M°LT )

cy and intensity of a light source are
the following statements
otocurrent remains almost the

(b) 327°C

(d) None of these

vith a uniform acceleration
65 m in the 5™ second and
cond. How far will it go in 20 s?
(b) 240 m

(d) 2004 m

is a consequence of the law

légamass are moving with the
ec. The ratio of their

(b) Cathode rays
(d) Neutrons
tlm;-ugh a sheet of

(a) zero
(© n/2

65. Two bullets are
horizontally and with

same place. Which bulle
(a) The faster bullet
(b) The slower bullet
(c) Badh will hir ._siinu'l aneo

66. °

pressure, d is the denm 2
to explosion. The values
(a) -5/6,1/2,1/3
(b) 576, 173, 17200 L L GEI.
() 5/6,1/2, 173 IS Hva R
(d) None of the above =
67. A machine gun fires a| :
velocity 1200 m/s. The r
maximum force of 144 |
bullets can be fired per secon:

(a) Only one KT
(b) Three ¢
(c) Canfire anynumber
(d) 144 x 48 '

68. Anideal heat engine
have 25% efficiency
(a) 127°C
(c) 327°C

69. A solid sphere is r_ol
kmeucenergymus, anslational
(@ 2/9 () 2/7 '
An artificial satellite
around the earth w
magnitude of escape vel
he:ght of the mﬂtﬁe ‘

70.

71.



M

again by a further length x. The work'done in thg
first case is W;, and in the second case is W,. Then |
(a) W, =W, (b) Wy =2W,
(C} w2 = 3W1 {d} WZ = 4W1

73. Digital circuit can be made by repetitive use of
this gate
(a) AND (b) OR
(c) NOT (d) NAND

74. Three balls A, B, C are thrown from a height h
with equal speeds upwards, downwards and

.hemis A
1. pH of a 0.0001M HCl solution is

(a) 4.0 (b) 2.0

(© 60 | (d) 7.0

2. In Lucas test an alcohol reacts .immediately and
gives insoluble chloride. The alcohol is
(a) CH,0H (b) CH4CH,0H
(c) (CH;),CHOH (d) (CH3);COH
3. Microcosmic salt is
(a) Na,P;0,
(b) Na(NH,)HPO,
(c) Na(NH;)HPO,4H,0
(d) MgNH,PO,
4. The reactant (X) in the reaction

00
(X) —21aC00Na | mamic acid is

(CH:!CO]zG
COOH CHO
cron
{d] Q/ 5 :' J

-CHg
-y

5. Which of the following does not react with
sodium metal?
(a) (CH;),0
(c) CH,COOH
6. The IUPAC name for
Cl

CHS_? —CH,—CH =CH—CH, is
i .

(b) CH,CH,0H
(d) C¢HOH

(a) 5-chloro-hex—2-ene ,
(b) 2-chloro-hex-5-ene .
(c) 1-chloro—1-methyl-pent-3—-ene
(d) 5-chloro-5-methyl-pent-2-ene

horizontally respectively. jW’hat _is the '."-._
among speeds v, Va» Ve with which they ,”.:.I
ground?
{a} "'A=VB="'C (b) VA:?'I-"C?‘"F
(€) va=Vs >Vc (d) vy<Vve <V
When the two inputs of a NAND gate are sh
the resulting gate is
(a) NOR

(c) NOT

75.

(b) OR
(d) AND

7. A reaction proceeds by first order, 75% of t
reaction was completed in 32 min. The tiy
required for 50% completion is -
(a) 8 min (b) 16 min
(¢) 20 min (d) ‘24 mia " =,

8. Aqueous solution of ferric chlorideis acidic duetg
(a) ionization
(b) polarization
(c) dissociation
(d) hydrolysis

9. The correct order of heat of formation of haloge
acids is
(a) HI > HBr > HCIl > HF
(b) HF > HCl > HBr > HI
(c) HCl > HF > HBr > HI
(d) HCl > HBr > HF > HI ;

10. A compound (X) on ozonolysis followed
reduction gives an aldehyde C,H,C
2-butanone, compound (X) is
(a) 3-methyl pentene-2
(b) 3-methyl pentene-3 _
(c) 3-methyl hexene-3 e (o
(d) 3-ethyl pentene-3 VA

11. The element which on burning in

peroxide is

(c) rubidium ) c
12. The C—O—H bond angle in

() 201 C ® 10

(c) 120° ()

13. Prot;ic solvent is
(c) acetone @

14. In cyclopropane, cyclobutz






\

.,_‘44.

(¢) an ion with positive and negative charge at

When a non volatile B is added to A its vapour
pressure drops to 0.60 atm. The mole fraction of

———

different points on it )
(d) a positively charged ion without a metal atom

36. The vapour pressure of pure liquid A is 0.80 atm.

B in the solution is

(a) 0.125

(c) 0.5

37. The velocity of oxidation of oxalic acid by

(b) 0.25
(d) 0.75

acidified KMnO, increases as the reaction

progress. It is an example of

(a) promoters

(c) autocatalysis
38. What flows in th

cell?

(a) Ions

(c) Electricity
39. Oxygen and sulphur both are the member of

same group in periodic table but H;0 is liquid

while H,S is gas because el

(a) molecular weight of water is more

(b) electronegativity of sulphur is more

() HSis weak acid

(d) water molecules are having weak hydrogen
~ bonds between them

40. Osmotic pressure of a solution at a given '
temperature

(b) catalytic poisons
(d) inhibitors
e internal circuit of a galvanic
~  (b) Electrons
(d) Atoms

(a) increases with concentration
(b) decreases with concentration
(¢) remains same
(d) initially increases and then decreases
41. Toluene on treatment with CrO , and (CH;C0),0
followed by hydrolysis with dil HCI gives
(a) benzaldehyde  (b) benzoic acid

(c) phenol

(d) phenylacetaldehyde

42. F,C =CF, is a monomer of

(a) teflon

(c) glyptal

(b) nylon
(d) buna-S

43. Which of the following is not a property of
coHoian solution?
(a) Heterogeneity
(b) Particle size > 100 nm
(¢) Tyndall effect

f

(a)
(c)

T

(d) Brownian movement

ion of helium gas is four times faster than

0,

NO,

) SO,
@ o,

45. Which of the following shell, form ap ,

octahedral complex? {
(a) d* (b) d i
() d° (d) None of thesa

. Cls)+ 0,(g) —> CO,(g); AH =~ 94 keal
i Zé(;{g)i(ggfg} ——> 2C0,(g); AH =~ 1353
keal. The heat of formation of CO(g)is
(a) —26.4 kecal (b) 41.2 kcal
(c) 26.4 kcal (d) 229.2 keal .
47. Which of the following will be easily nitratedy

CHs _
(a) (b) T

(c) CH;NO; - - (d) CgHgNO, — =
48. In Kjeldahl’s method of estimation of nitrogey
CuSO, acts as
(a) oxidising agent (b) reducing agent
(c) catalytic agent (d) hydrolysis agent
49. The hydroxide insoluble in NH,OH + NH,Clis |

(2) Al(OH), (b) Ca(OH),
(¢) Zn(OH), (d) Mg(OH), i
50. Time period of a wave is 5x 107 s, what is the
frequency? '
(a) 5x107° ¢! (b) 2x10% s
(©) 23x10%s! (d) 5x102s!
51. Which of the following, is an example of aldo
condensation? £ _

(a) | 2GHEOCH) 8 NaOH
CH;COHCH ,CH,COCH;
(b) 2HCHO —LNOH | oy oy

(€) CgHL.CHO + HCHO 4il NaoH C H.CH,0H
(d) None of the above L

52. Conjugate acid of HF; is

(@) H" (b) HF
(c) le | BB
53. Sodium thiosulphate isa
(a) reducingl agent  (b) oxidisin
_ (c) complexing agent (d) bleaching
54. An electron from one Bohy stationary
to next higher orbit
(a) by emission of elecgromagnétic

(b) by absorption
radiation | T Enriel






73. One mole of magnesium nitride on the reaction
with an excess of water gives
(a) one mole of NH; (b) two moles of NH,
(c) one mole of HNO,(d) two moles of HNO,

74. Which of the following oxides is amphoteric in

character?
(c) CO, (d) CaO

75. p-cresol reacts with chloroform in alkaline
medium to give the compound A which adds
hydrogen cyanide to form the compound B. The
latter on acidic hydrolysis gives chiral carboxylic
acid. The structure of the carboxylic acid is

me Mathematics

5Y% x<0
Alxl, x=0

1. Let f(x) ={ and A R,
thenat x =0
(a) fis discontinuous
. (b) fis continuous only, if A = 0
(¢) fis continuous only, whatever A may be
- (d) None of the above
2. Eccentricity of the

ellipse
x®+2y% —2x + 3y + 2=0is
1 ' 1
1 1
(c) g
Y o

3. The slopes of the lines represented by
x*+ 2hxy + 2y? = 0 are in the ratio 1 : 2, then it

equalsl
1 3
(c) :ztal % (d) +3
3
4. 1+§+3—|+;‘—I+...mequals
(a) 5e (b) 4e
(c) 3e (d) 2

5. A train of length 200 m, traveling at 30 m/s
overtakes another train of length 300 m,
traveling at 20 m/s in the same direction, The
time taken by the first train to pass the second is
(a) 30s (b) 505
(c) 10s (d) 40

6. If a falling body covers 75 m in its last second
then the height from which it is falling is (také
& =10m/5%) (in metres)

== S E

4

k

5

Hy CH:
¢rﬂf sz,'f';r)h-
(a) ®
E]; ™ CH,COOH
OH . OH

3

CHa : CH
CH(OH)igq "
© @\ ) Q '
CH(OH)-COOH
y | OH

OH

(a) 320 (b) 300
(c) 350 (d) 360
7. If S be the sum, P be the product and R be theg n
of the reciprocals of n terms of a GP, thep p%;

equal to

St S

fex b) —
@ (5] ®

R)" R
© (%) OFS

6
8. Inthe expansion of(x - -1-] , the constant termi§
% _

(a) 20 (b) — 20
(c) 30 (d) —30

9. IfﬂBCDEF-is a regular hexag{,n with AB‘ = z and
BC = B, then CE equals

@ B-a (b -b
-
(© b-2a (d) None of these
10. The maximum value
5¢0s 0+ 3cos (E-i- g) + 3is
(a) 5 1
(c) 10 20

(d) -1 ,

11. If A apg 3 B are two events such e

.P[A UB)==_P(A MB)= 1, P(A) = gs

e ueeina 4 3 .

P(A nB)is equal to "
(a) ) l

5 (b)

(73]
Bl=om|w


















